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1 (610)H =2 Mg (B1T)AIE 2 4= (el &)

- 0l &k o gi;ﬁ HnZS2 a4 & 9 =
75mn 14,0002 X 158 X 128 = 2,520
100mn 17,0002 X 158 X 128 = 3,060
150mn 30,0008 X 9F X 128 = 3,240
200mm 37,0008 X 1& X 128 = 444
4,398,293 4,397,652 641

O 2449
=5 1,00080 X 125,507m X 128 = 1044241
=] 1,55080 X 27,698m X 128 = 515182
363 1,8608 X 19,582m X 12" = 437,070
4643 23009 X 20,875m X 128 = 576,150
5E4 3 28009 X 25,615m X 128 = 866,811

O PP Fuga
15mm BOOR X 4,727% X 128 = 34034
20mn 8002 X 672K X 12”8 = 6,451
25mn 1,0008 X 423% X 128 = 5,076




: (600) At %o 5 (610) 242142l NI (B11)ALB 24 (CHel: & e)
n

P i e | S0 | w2 & & I =
32mn 1.9008 X 778 X 128 = 1,201
40mn 16002 X 1297 X 128 = 2476
50 3,30020 X 778 X 128 = 3049
75 14,0002 X 26% X 128 = 4368
100mm 17,0002 X 57 X 128 = 1,020
150mm 30,0002 X 28 X 128 = 720
200mm 37,0002 X 1® X 128 = 444
6E:| g(‘g% 42,442 37,505 4,937

O 244
1421 1,002 X 1,723m X 128 = 2129
2843 1,002 X 576m X 128 = 8916
3eHi 15702 X 306m X 128 = 5765
45430 18602 X 215m X 128 = 4798

SEEER-TI-E
25 100080 X 4% X 128 = 4




 (610)% &40 MIBL: (B11)AFE 222! (9l &)
=
— 0l &k o gi;ﬁ HnZS2 a4 & 9 =
3omn 1,308 X 28 X 12”8 = 31
40mn 16008 X 147 X 128 = 268
50mn 3,3002 X 10& X 128 = 396
100mn 17,0002 X 18 X 128 = 204
150mn 30,0008 X 2& X 128 = 720
705,000 705,000 0
705,000 705,000 0
O ARBLTA Foi2ga
15mn 8000002 X 4008 = 320,00
20mn 1,000,0002 X 50& = 50,000
25mm 1,500,000& X 40& = 60,000
3omn 2,000,002 X 358 = 70000
40mn 2,500,002 X 208 = 50000
50mn 3,500,002 X 10® = 35000
75mn 10,000,002 X 5% = 50000




2t (600) At =< & (610) &+ H&: (612)2 . =3 A=< cHel i m Q)
AFOH v ey = =
o 2 A = Ol Ol Ak ot Hlw £ J| =
100mm 20,000,000& X 2& = 40,000
150mm 30,000,000& X 1M = 30,000
661
JIEtE A < 1,500 39,780 138,280
661-02
IlEIANIEE 42 1,500 6,000 24,500
S (HAMFN) 500,000& X 33 = 1,500
670
AR 176,328 203,480 27,152
671
Ol Kt==¢<] 68,000 99,000 231,000
671-01
0l 20| Xt 68,000 99,000 231,000
=302 0=
SE023 3,000,000,000& X 0.1% = 3,000
102 10,000,000,000& x 0.65% = 65,000
672
Etgl HE L 2+ 96,028 99,080 23,052
672-01
AL H MU= 12,000 10,800 1,200
DHAN AT AlsE 2H B 12,000,000& = 12,000
672-02
EtSEgs A= 84,028 88,280 N4,252




L (670) 22 9l 42 Mg (672)EFSI A E Q240! (cr9l: m2)
2
Ao gi;ﬁ finE=ET I -
O stacsEs) 52
SHECABE YSHL 442 0.694,296,0008 X 3% = 80828
Not4 2& 442 1,002 x 1008 x 128 = 1,200
Xot4 Al 7Y 40,0002 X 500 = 2,000
12,300 5,400 6,900
3,600 2,700 900
O L& LY 1,802 x 2,000 = 3,600
6,000 0 6,000
OMLE 21 ROATELI 6,000,0008 X 14 = 6,000
2,700 2,700 0
O JIEt Zel 49 o 49 2.700,0008 = 2,700




